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Simplified reading and comprehension Unit 6

Answer key

Comprehension 1

1
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11 i
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13 i

in First World countries

because they can find cheap labour in those places (any reasonable answer)

routine

because their small fingers would not damage the crops (any reasonable answer)

A

fast fashion factory workers

i)
i)

i)

acrylic, rayon and polyester

because they take many years to break down (any reasonable answer)

NG

1

3

second

170

child labour
dyeing
industrial
retailers
exploited

synthetic
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(vi) carbon emissions

(vii) fabric
(viii) oil
(ix) million
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